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(e Higher Malths  Homework.

Find the equation of the tan
point where x = 1.

For what values of x is 6 + v — x? < 0?

!
Given that f(v) = (4+ - 31%) ° on a suitable domain, find f/(x).

N s 3. T - . . . N
[f f(x) = 2sin (J.\ - /;—) + 5, what 1s the range of values of f(x)?

A =28 + 61,

What is the rate of change of 4 with respect to » when r= 2?

Functions f, g and /2 are defined on the set of real numbers by

o flw)= V-1
o glx)=3x+1
o N(x)=4x-3.

(a) Find g(f(x)).
(b) Show that g(f(x)) + xh(x) = It 4T —5x -2

() (i) Show that (x~- 1) is a factor of 3+ 4t =350 =2,

. bl - -
(i1) Factorise 3x 4+ 4x" = 5a -2 tully.

() Hence solve g(f(x)) + xh(x)=0.

D.OABC is a square based pyramid as shown in the diagram below.

) D(2, 2, 6)
V
C B
O 4 \/
N A X

O is the origin, D is the point (2, 2, 6) and OA =4 units.
M is the mid-point of OA.
(a) State the coordinates of B.
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(b) Express DB and DM in component form.

(¢) Find the size of angle BDM.

gent to the curve with equation y = 5x3 — 632 at the
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